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Data Interpretation Questions for SBI PO Pre, 
IBPS PO Pre, SBI Clerk Mains, IBPS Clerk 
Mains & LIC AAO Exam 

Direction: Read the given stack bar chart and other information carefully and answer 

the questions given beside. 

SET – 1 

Data regarding the number of people who were tested positive of COVID-19 during 

January, February, and March in five countries is given in the stack bar chart. 

 

 



 

1. Find the average number of people per day who were tested positive in India in 

March.  

A. 60.73   B. 67.74   C. 72.34 

D. 76.47   E. 80.55 

2. Which countries in February showed more than 3000 positive tests? 

A. China and Italy only B. China and the USA only C. Italy and the USA only 

D. China, Italy and the USA only 

E. China, Italy, Spain and the USA only 

3. By what percent the number of positive tested people grew in Spain in February from 

January? 

A. 335.13%   B. 235.13%   C.353.13% 

D. 253.13%   E. None of these 

4. Japan in January had twice the number of cases that India had in January while 50% 

more cases in February than India that India had in February. Find the number of cases 

in Japan in March if cases in March were twice the total cases till February end. 

A. 900    B. 1000   C. 2200 

D. 2000   E. 1800 

5. Find the ratio of the the number of cases in February and March together in USA to 
the number of cases in China in February and the number of cases in Italy in March 
together. 

A. 41 : 52   B. 55 : 47   C. 54 : 35 

D. 50 : 33   E. None of these 
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SET – 2 

To identify and treat people with COVID-19, numbers of tests were conducted on people. 

The bar chart below shows the data for four countries 

The bar chart gives information about:  

Numbers of tests in thousand for each one lakh population in a day, 

Number of people as percentage, who were found positive to test, and 

The number of people who were found positive and needed Ventilators, as they were 

critically affected due to the virus. 

Data regarding number of Tests, Positive outcomes and Critical Patients who need 

ventilators in four countries 

 

6. Find average number of tests per day per lakh in the four countries. 

A. 12000   B. 10000   C. 14000 

D. 15000   E. 16000 



 

7. Find the numbers of tests USA and Italy together conducted if 3012 lakh and 720 lakh 

people respectively were living in these two countries. 

A. 452.18 lakh   B. 151.48 lakh   C. 231.28 lakh 

D. 151.48 lakh   E. 551.28 lakh 

8. China tested 80000 people per day for 20 days. How many people were found 

positive in China in these 20 days? 

A. 162500   B.176000   C. 168500 

D. 212500   E. 222000 

9. In Spain, 5760 were found positive on a particular day. Find how many tests were 

conducted that day. 

A. 54000   B. 48000   C. 72000 

D. 36000   E. 84000 

10. Find average number of ventilators for all the four countries together if 1 lakh 

people are tested in each of the four countries. 

A. 288    B. 336    C. 120 

D. 432    E. 264 
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SET – 3 

In Delhi, UP and Rajasthan together there were 80 COVID-19 cases on Monday. On 

Tuesday cases increased by 80% as compared to Monday. On Wednesday, Thursday and 

Friday the number of cases of COVID-19, increased by 150%, 220% and 350% as 

compared to the respective previous day.  

The chart given below shows the cases on each day in Delhi and Rajasthan as a 

percentage of total cases that day in Delhi, UP and Rajasthan together. 

 

11. What is the increase in the number of COVID -19 cases in Delhi and Rajasthan 

together from Monday to Wednesday? 

A. 250    B. 230    C. 225 

D. 180    E. 245 

12. The number of cases in UP on Thursday is what percent of the number of cases in 

Delhi on Friday? 

A. 9.33%   B. 16.67%   C. 15% 

D. 12.5%   E. 8.25% 

13. What is the difference between the number of cases in Delhi and Rajasthan on 
Friday? 

A. 724    B. 792    C. 1080 

D. 856    E. 742 



 

14. What is the ratio of the increase in the number of COVID-19 cases from Tuesday to 

Thursday in UP to that in Delhi? 

A. 5 : 21   B. 7 : 20   C. 11 : 25 

D. 5 : 18   E. None of these 

15. The percentage increase in UP from Wednesday to Thursday is what percent of the 

percentage increase in Delhi from Tuesday to Wednesday? 

A. 50%    B. 25%    C. 45% 

D. 37.5%   E. 30% 
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SET – 4 

Direction: Read the given mixed chart and other information carefully and answer the 
questions given beside. 

To test people for COVID-19, a city was divided into six zones. Name of zones were on the 
name of colours – Skyblue Zone, Yellow Zone, Green Zone, Red Zone, Blue Zone, Black 
Zone as shown below in bubble chart. 

The bubble chart below shows numbers of tests that were conducted for COVID-19 and 
the number of positive outcomes in various zones. 

The number of positive outcomes is shown on each bubble for the corresponding zone. 

The numbers of tests are to be found by the x-axis value of the vertical line that passes 
through the centre of a given bubble. 

All data is in thousand. 

 

16. Find what percent of people were found positive out of those who were tested in 
Yellow zone?  

A. 10%    B. 16%    C. 3% 

D. 30%    E. 8% 
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17. Find the average number of people that were tested in Green Zone, Skyblue Zone, 

Red Zone and Black Zone. 

A. 11550   B. 12250   C. 13125 

D. 12500   E. 11950 

18. The number of people who were found positive in Yellow Zone was what percent 

more than the number of people who were found positive in Skyblue Zone? 

A. 164 
 

 
%   B. 166 

 

 
 %   C. 166 

 

 
 % 

D. 136 
 

 
 %   E. 126 

 

 
 % 

19. Find total number of people who were found positive in all the Zones combined.  

A. 1663 thousand  B. 16.3 thousand  C. 13.63 thousand 

D. 16.6 thousand  E. 16.63 thousand 

20. A number of new people, which is twice the already tested number of people, are 

tested in Blue Zone, and the numbers of positive outcomes are more than 50% of 

previous outcomes. Find approximately what percent people are found positive (old + 

new positive) in Blue Zone out of total tests. 

A. 7.8%   B. 8.1%   C. 9.2%  

D. 10%    E. 6.4% 

 

 

 

 

 

https://t.me/smartkeedaofficial


 

SET – 5 

The chart given below shows the total number of COVID-19 cases registered and also the 
percentage of people who recovered in four countries Italy, France, Spain and USA. 

 

The table given below shows the number of cases per Million population in four 
countries. 

Country Cases/1 M 

Italy 2453 

France 1215 

Spain 1466 

USA 234 

 

Cases per million = 
Total cases 

 × 1,000,000 
Population 

 

Total cases = Active + Recovered 

21. What is the difference between the number of active cases and recovered cases in 
France? 
A. 25815   B. 24155   C. 25515 

D. 23850   E. 26255 

22. What is the ratio of the population of Italy to the population of Spain? 

A. 1 : 2    B. 3 : 7    C. 1 : 3 

D. 2 : 5    E. 2 : 3 



 

23. What is the difference between the number of recovered cases in Spain and USA? 

A. 420    B. 450    C. 280 

D. 345    E. 360 

24. If 37.5% of the USA population is uneducated, what is the number (in crores) of 

educated people in USA? 

A.156    B. 140    C. 160 

D. 124    E. 142 

25. What is the difference between the Active cases of Italy and Spain? 

A. 348    B. 424    C. 328 

D. 358    E. 384 
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SET – 6 

From a TG congregation in Delhi, 2100 TG members travel to five different states AP, MP, 

UP, Rajasthan and Haryana. All the members reached their respective states on Monday. 

All the TG members were COVID-19 positive and when they come in contact with other 

people those people become COVID-19 suspects. 

The pie chart given below shows the percentage breakup of the 2100 members who 

travel to five different states. 

 

The line chart given below shows the average number of people contacted per TG 

member in each state on Monday and Tuesday. 

 

The suspects of a particular day are quarantined on that particular day only and they are 

no longer suspects on next day. 



 

26. What is the total number of suspects in MP on Monday and Tuesday together? 

A. 324    B. 296    C. 364 

D. 336    E. 318 

27. What is the difference between the total suspects of UP and Haryana on Monday 

and Tuesday together? 

A. 35    B. 41    C. 32 

D. 45    E. 27 

28. The total number of suspects of UP and MP on Tuesday are what percent of the 

total suspects of Haryana on Monday and Tuesday together? 

A. 23.33%   B. 18.45%   C. 21.42% 

D. 19.33%   E. None of these 

29. What is the average number of suspects in AP, MP and UP on Monday? 

A. 178    B. 196    C. 204 

D. 188    E. None of these 

30. What is the difference between the suspects on Monday and Tuesday in Rajasthan? 

A. 58    B. 72    C. 63 

D. 54    E. None of these 
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SET – 7 

The chart given below shows the number of positive COVID-19 cases reported in four 

countries and percentage of people who died and those who recovered from the 

reported cases. Rest of them are active cases. 

 

31. What is the difference between the death count in Italy and Spain? 

A. 890    B. 840    C. 825 

D. 750    E. None of these 

32. What is the total number of active cases in Spain? 

A. 16560   B. 13750   C. 17260 

D. 16860   E. 15650 

33. What is the total number of deaths in four countries? 

A. 10012   B. 9457   C. 9324 

D. 9487   E. 9557 

34. If 25% of the active cases in Iran are females, what is the number of active male 

cases in Iran? 

A. 7250   B. 7380   C. 6450 

D. 7460   E. None of these 



 

35. The number of people who recovered in India are what percent of the people who 
recovered in Spain? 

A. 5.83%   B. 7.14%   C. 8.25% 

D. 6.67%   E. 6.25% 

 

 

 

SET – 8 

Tinka Nupoor was in a country where COVID-19 was widespread. She came to India on 
Monday, 17 Feb 2020. She was tested and found positive on 22 Feb, Saturday. Within the 
five days from Monday to Friday, she came in physical contact with 900 people, whose 
number for each day is given in the pie chart. 

Number of People in Physical Contact 

 

Out of those whom she came in contact with during these five days, only 40% were found 
positive when tested after three days on Tuesday, 25 Feb. Each person, who was found 
positive, came in physical contact with on an average 12 uninfected people each day in 
the these three days (i.e. on Saturday, Sunday and Monday) before being tested and 
isolated on Tuesday. 
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36. What percent more people Tinka Nupoor came in contact with on Friday than on 

Tuesday? 

A. 10%    B. 12%    C. 12.5% 

D. 16.67%   E. 20% 

37. How many people she infected before being found positive? 

A. 900    B. 450    C. 720 

D. 540    E. 360 

38. Ratio of men to women she came in contact with on Wednesday was 4:5. Number 

of men who were above age of 50 years were 40% less than those who were equal to or 

below age of 50 years. None of the men equal to or below age of 50 years was found 

positive. How many men were found positive? 

A. 40    B. 64    C. 80 

D. 24    E. 16 

39. On Monday, number of men she came in contact with were 35% of the number of 

women. All the men whom she came in contact with on Monday were found positive 

and number of women who were found positive were equal to the number of men. 

How many people were found negative, from the people she came in contact with on 

Monday? 

A. 78    B. 84    C. 42 

D. 126    E. None of these 

40. Out of all the people who came in physical contact, from Saturday to Monday, with 

those who came in physical contact with Tinka Nupoor and were found positive, only 

45% were found positive when tested on Wednesday, 26 Feb. How many people were 

found positive on 26 Feb? 

A. 4562   B. 1296   C. 5832 

D. 3258   E. 9612 



 

 

SET – 9 

Information about number of patients who were tested positive to COVID-19 tests in five 
different cities of India is as follows. 

Delhi has 60% more patients than Jaipur, which has 400 more than Chennai. Number of 
patients in Calcutta was half the number of patients in Chennai. Number of patients in 
Mumbai was 100 less than Chennai. Total patients were 9100 as on 31 March 2019 in all 
the five cities together. 

It was found that out of every 200 patients, 180 recovered within 14 days, 18 took 30 
days to recover and 2 died. 

41. Find average number of patients in Chennai, Calcutta and Mumbai. 

A. 1100   B. 1200   C. 1300 

D. 1400   E. None of these 

42. Number of patients in Jaipur was what percent more than Calcutta? 

A. 100%   B. 150%   C. 200% 

D. 250%   E. None of these 

43. For each 1000 tests the numbers of people who were found positive were 130. Find 
out how many tests were conducted that produced 9100 total positive cases? 

A. 35,000   B. 40,000   C. 91,000 

D. 130,000   E. 70,000 

44. How many patients recovered till 30 April 2020, if all the patients in Delhi, Jaipur 
and Calcutta are considered? 

A. 5400   B. 5540   C. 4590 

D. 5940   E. 5990 
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45. How many people died in Jaipur, Mumbai and Chennai together? 

A. 41    B. 51    C. 55 

D. 112    E. 102 

 

 

SET – 10 

Three districts A, B and C of Agra receive a certain number of N95 masks from 

manufacturers in five different cities. 

The table given below shows the average number of masks received by each district from 

each city, ratio of masks received by C and that received by A and B together and also the 

ratio of masks received by A and B. 

 Average Masks C/(A + B) A : B 

Varanasi 4200 1/8 2 : 3 

Jaipur 5400 1/5 7 : 2 

Bhilwara 2400 2/7 2 : 5 

Surat 2650 ¼ 3 : 7 

Ajmer 2420 2/9 2 : 7 

 
46. The masks received by A from Ajmer is what percent of the masks received by B 
from Bhilwara? 

A. 27.5%   B. 25%    C. 35%  

D. 33%    E. 32.5%  

47. What is the average number of masks received by B from Surat and Ajmer? 

A. 4482   B. 4223   C. 4536 

D. 4584   E. 4566 
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48. What is the difference between the masks received by A and B together from 

Varanasi and Bhilwara? 

A. 5600   B. 4200   C. 5240 

D. 5800   E. 5400 

49. What is the ratio of the total number of masks received by C from Surat and Ajmer 

to that received by B and C from Jaipur? 

A. 97 : 190   B. 82 : 185   C. 17 : 52 

D. 32 : 85   E. None of these 

50. What is the difference between the number of masks received by A from Jaipur, 

Bhilwara, and Surat and the number of masks received by B from Varanasi, Surat, and 

Ajmer? 

A. 1748   B. 786    C. 1640 

D. 1790   E. None of these 
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ददशाननदेश: दी गई जानकायी का ध्मानऩूर्वक अध्ममन कयेँ औय ददए गए प्रश्नों के उत्तय दें। 

SET – 1 

ऩ ांच देशों भें जनवयी, पयवयी औय भ चच के दौय न COVID-19 के ऩयीऺण भें सांक्रमभत ऩ मे गए रोगों 
की सांख्म  के फ ये भें डटे  स्टैक फ य च टच भें ददम  गम  है। 

 

1. भार्व भें बायत भें प्रनत ददन सॊक्रमभत ऩाए गए रोगों की औसत सॊख्मा का ऩता रगाएॊ।  

A. 60.73   B. 67.74   C. 72.34 

D. 76.47   E. 80.55 

2. पयर्यी भें ककन देशों ने 3000 से अधधक रोग सॊक्रमभत ऩाए गए? 



 

A. केवर चीन औय इटरी B. केवर चीन औय अभेरयक  C. केवर इटरी औय अभेरयक  

D. केवर चीन, इटरी औय अभेरयक  

E. केवर चीन, इटरी, स्ऩेन औय अभेरयक  

3. स्ऩेन भें जनर्यी से पयर्यी तक के ऩयीऺण भें सॊक्रमभत ऩाए गए रोगों की सॊख्मा भें ककतने 
प्रनतशत फदृ्धि हुई? 

A. 335.13%   B. 235.13%   C.353.13% 

D. 253.13%   E. इनभ ेसे कोई नही| 

4. जनर्यी भें जाऩान भें भाभरों की सॊख्मा जनर्यी भें बायत भें भाभरों की सॊख्मा के दोगुनी थी, 
जफकक पयर्यी भें बायत की तुरना भें पयर्यी भें जाऩान भें भाभरों की सॊख्मा 50% अधधक थी। भार्व 
भें जाऩान भें भाभरों की सॊख्मा ऻात कयें  मदद भार्व भें भाभरे पयर्यी के अॊत तक कुर भाभरों के 

दोगुन ेथे। 

A. 900    B. 1000   C. 2200 

D. 2000   E. 1800 

5. पयर्यी औय भार्व भें अभेरयका भें भाभरों की कुर सॊख्मा औय पयर्यी भें र्ीन भें औय भार्व भें इटरी 
भें भाभरों की कुर सॊख्मा का अनुऩात ऻात कयें। 

A. 41 : 52   B. 55 : 47   C. 54 : 35 

D. 50 : 33   E. इनभ ेसे कोई नही| 

 

 

SET – 2 
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COVID-19 व रे रोगों की ऩहच न कयने औय उनक  इर ज कयने के मरए, रोगों ऩय कई ऩयीऺण ककए 

गए। नीच ेददए गए फ य च टच भें च य देशों के डटे  को ददख म  गम  है 

फ य च टच ननम्न के फ ये भें ज नक यी देत  है: 

एक ददन भें प्रत्मेक एक र ख की आफ दी के मरए हज य भें ऩयीऺणों की सांख्म , 

प्रनतशत के रूऩ भें रोगों की सांख्म , जो ऩयीऺण भें ऩॉजजदटव ऩ ए गए, औय 

जजतने रोग ऩॉजजदटव ऩ ए गए औय उन्हें  वेंदटरेटय की आवश्मकत  थी, क्मोंकक वे व मयस के क यण 

गांबीय रूऩ से प्रब ववत थे। 

च य देशों भें टेस्ट की सांख्म , ऩॉजजदटव ऩरयण भ औय वेंदटरेटय की आवश्मकत  व रे गांबीय भयीजों के 

फ ये भें डटे  

 

 

6. र्ायो देशों भें प्रनत राख प्रनत ददन औसत ऩयीऺण की सॊख्मा ऻात कयें। 



 

A. 12000   B. 10000   C. 14000 

D. 15000   E. 16000 

7. अभेरयका औय इटरी भें टेस्टों की कुर सॊख्मा ऻात कयें  मदद क्रभशः इन दोनों देशों भें 3012 राख 

औय 720 राख रोग यहत ेथे। 

A. 452.18 र ख   B. 151.48 र ख   C. 231.28 र ख  

D. 151.48 र ख   E. 551.28 र ख 

8. र्ीन न े20 ददनों भें प्रनत ददन 80000 रोगों का ऩयीऺण ककमा। इन 20 ददनों भें र्ीन भें ककतने रोग 

ऩॉजजदटर् ऩाए गए? 

A. 162500   B.176000   C. 168500 

D. 212500   E. 222000 

9. स्ऩेन भें, 5760 एक द्धर्शषे ददन ऩय ऩॉजजदटर् ऩाए गए। ऻात कयें  उस ददन ककतन ेऩयीऺण ककए 

गए थे। 

A. 54000   B. 48000   C. 72000 

D. 36000   E. 84000 

10. मदद र्ायों देशों भें से प्रत्मेक भें 1 राख रोगों का ऩयीऺण ककमा जाता है, तो सबी र्ाय देशों के 

मरए र्ेंदटरेटय की औसत सॊख्मा ऻात कयें। 

A. 288    B. 336    C. 120 

D. 432    E. 264 
 

 

SET – 3 
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सोभव य को COVID-19 के ददल्री, मूऩी औय य जस्थ न भें कुर 80 भ भरे थे। सोभव य की तुरन  भें 
भांगरव य के भ भरों भें 80% की ववृि हुई। वऩछरे ददन की तुरन  भें फुधव य, गुरुव य औय शुक्रव य को 
COVID-19 के भ भरों की सांख्म  भें वऩछरे ददनों की तुरन  भें क्रभश् 150%, 220% औय 350% की 
ववृि हुई। 

नीच े ददम  गम  च टच ददल्री औय य जस्थ न भें प्रत्मेक ददन ददल्री, मूऩी औय य जस्थ न भें कुर 

भ भरों के प्रनतशत के रूऩ भें भ भरों को दश चत  है। 

 

11. ददल्री औय याजस्थान भें COVID -19 भाभरों की कुर सॊख्मा भें सोभर्ाय से फुधर्ाय तक कुर 

र्दृ्धि क्मा है? 

A. 250    B. 230    C. 225 

D. 180    E. 245 

12. गुरुर्ाय को मूऩी भें भाभरों की सॊख्मा शुक्रर्ाय को ददल्री भें भाभरों की सॊख्मा की ककतनी 
प्रनतशत है? 

A. 9.33%   B. 16.67%   C. 15% 

D. 12.5%   E. 8.25% 

13. शुक्रर्ाय को ददल्री औय याजस्थान भें भाभरों की सॊख्मा के फीर् क्मा अॊतय है? 



 

A. 724    B. 792    C. 1080 

D. 856    E. 742 

14. मूऩी औय ददल्री भें भॊगरर्ाय से गुरुर्ाय तक COVID-19 भाभरों की सॊख्मा भें र्दृ्धि का अनुऩात 

क्मा है? 

A. 5 : 21   B. 7 : 20   C. 11 : 25 

D. 5 : 18   E. इनभ ेसे कोई नही| 

15. फुधर्ाय से गुरुर्ाय तक मूऩी भें प्रनतशत र्दृ्धि भॊगरर्ाय स ेफुधर्ाय तक ददल्री भें प्रनतशत र्दृ्धि का 
ककतना प्रनतशत है? 

A. 50%    B. 25%    C. 45% 

D. 37.5%   E. 30% 

 

SET – 4 

COVID-19 के मरए रोगों क  ऩयीऺण कयने के मरए, एक शहय को छह ऺेत्रों भें ववब जजत ककम  गम  
थ । जोन क  न भ यांगों के न भ ऩय थ  - स्क ईब्रू जोन, मरो जोन, ग्रीन जोन, येड जोन, ब्रू जोन, 

ब्रैक जोन जैस  कक फफर च टच भें नीच ेददख म  गम  है। 

नीच ेददम  गम  फफर च टच उन ऩयीऺणों की सांख्म  ददख त  है जो COVID-19 औय ववमबन्न ऺेत्रों भें 
ऩॉजजदटव ऩरयण भों की सांख्म  के मरए आमोजजत ककए गए थे। 

सांफांधधत ऺेत्र के मरए प्रत्मेक फफर ऩय ऩॉजजदटव ऩरयण भों की सांख्म  दश चई गई है। 
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ऩयीऺणों की सांख्म  ऊर्धव चधय येख  के x-अऺ भ न स ेऩ ई ज नी है जो ककसी ददए गए फुरफुरे के कें द्र 

स ेगुजयती है। 

स य  ड ट  हज य भें है। 

 

16. ऻात कयें  कक मेरो जोन भें ऩयीऺण ककए गए रोगों भें स े ककतने प्रनतशत रोग ऩॉजजदटर् ऩाए 

गए? 

A. 10%    B. 16%    C. 3% 

D. 30%    E. 8% 

17. ग्रीन जोन, स्काईब्रू जोन, येड जोन औय ब्रैक जोन भें ऩयीऺण ककए गए रोगों की औसत सॊख्मा 
ऻात कयें। 

A. 11550   B. 12250   C. 13125 

D. 12500   E. 11950 
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18. मेरो जोन भें ऩॉजजदटर् ऩाए जाने र्ारे रोगों की सॊख्मा स्काईब्रू जोन भें ऩॉजजदटर् ऩाए जान े

र्ारों की सॊख्मा से ककतन ेप्रनतशत अधधक थी? 

A. 164 
 

 
%   B. 166 

 

 
 %   C. 166 

 

 
 % 

D. 136 
 

 
 %   E. 126 

 

 
 % 

19. उन सबी रोगों की कुर सॊख्मा ऻात कयें  जो सॊमुक्त रूऩ स ेसबी ऺेत्रों भें सॊक्रमभत ऩाए गए थे। 

A. 1663 हज य   B. 16.3 हज य   C. 13.63 हज य 

D. 16.6 हज य   E. 16.63 हज य 

20. नए रोगों की सॊख्मा, जो ऩहरे से ही ऩयीऺण ककए गए रोगों की सॊख्मा का दोगुना है, ब्रू जोन भें 
ऩयीऺण ककए जाते हैं, औय ऩॉजजदटर् ऩरयणाभों की सॊख्मा द्धऩछरे ऩरयणाभों से 50% अधधक है। कुर 

ऩयीऺणों भें से ब्रू जोन भें रगबग ककतने प्रनतशत रोग ऩॉजजदटर् (ऩुयान े+ नए ) ऩाए जात ेहैं। 

A. 7.8%   B. 8.1%   C. 9.2%  

D. 10%    E. 6.4% 
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SET – 5 

नीच े ददए गए च टच भें COVID -19 भ भरों की कुर सांख्म  औय च य देशों इटरी, फ् ांस, स्ऩेन औय 

अभेरयक  भें स्वस्थ ककए गए रोगों के प्रनतशत को ददख म  गम  है। 

 

नीच ेदी गई त मरक  च य देशों भें प्रनत मभमरमन आफ दी के भ भरों की सांख्म  को दश चती है। 

देश भाभरे/1 M 

इटरी 2453 

फ् ांस 1215 

स्ऩेन 1466 

अभेरयक  234 

 

भ भरे प्रनत मभमरमन =  
कुर भ भरे 

× 1,000,000 
आफ दी 

कुर भ भरे = सकक्रम + स्वस्थ 

21. फ्ाॊस भें सकक्रम भाभरों औय स्र्स्थ भाभरों की सॊख्मा के फीर् अॊतय क्मा है? 

A. 25815   B. 24155   C. 25515 

D. 23850   E. 26255 



 

22. स्ऩेन की जनसॊख्मा औय इटरी की जनसॊख्मा का अनुऩात क्मा है? 

A. 1 : 2    B. 3 : 7    C. 1 : 3  

D. 2 : 5    E. 2 : 3 

23. स्ऩेन औय अभेरयका भें स्र्स्थ भाभरों की सॊख्मा के फीर् अॊतय क्मा है? 

A. 420    B. 450    C. 280 

D. 345    E. 360 

24. मदद अभेरयका की आफादी का 37.5% अमशक्षऺत है, तो अभेरयका भें मशक्षऺत रोगों की सॊख्मा 
(कयोडों भें) क्मा है? 

A.156    B. 140    C. 160 

D. 124    E. 142 

25. इटरी औय स्ऩेन के सकक्रम भाभरों भें क्मा अॊतय है? 

A. 348    B. 424    C. 328 

D. 358    E. 384 
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SET – 6 

ददल्री भें एक टीजी भण्डरी से, 2100 टीजी सदस्म ऩ ांच अरग-अरग य ज्मों एऩी, एभऩी, मूऩी, 
य जस्थ न औय हरयम ण  की म त्र  कयते हैं। सबी सदस्म सोभव य को अऩने-अऩने य ज्मों भें ऩहुांच 

गए। सबी टीजी सदस्म COVID-19 ऩॉजजदटव थे औय जफ वे अन्म रोगों के सांऩकच  भें आत ेहैं तो व े

रोग COVID-19 सांददग्ध फन ज ते हैं।  

नीच ेददम  गम  ऩ ई च टच उन 2100 सदस्मों के प्रनतशत ब्रेकअऩ को दश चत  है जो ऩ ांच अरग-अरग 

य ज्मों की म त्र  कयत ेहैं। 

 

नीच ेददए गए र इन च टच भें सोभव य औय भांगरव य को प्रत्मेक य ज्म भें प्रनत टीजी सदस्म के सांऩकच  
भें आन ेव रे रोगों की औसत सांख्म  दश चई गई है। 

 

 



 

एक ववशषे ददन के सांददग्धों को केवर उस ववशषे ददन ऩय ही क्व यांट इन ककम  ज त  है औय व ेअगरे 

ददन सांददग्ध नहीां होत ेहैं। 

26. एभऩी भें सोभर्ाय औय भॊगरर्ाय को सॊददग्धों की कुर सॊख्मा क्मा है? 

A. 324    B. 296    C. 364 

D. 336    E. 318 

27. सोभर्ाय औय भॊगरर्ाय को मूऩी औय हरयमाणा के कुर सॊददग्धों के फीर् क्मा अॊतय है? 

A. 35    B. 41    C. 32 

D. 45    E. 27 

28. भॊगरर्ाय को मूऩी औय एभऩी के सॊददग्धों की कुर सॊख्मा सोभर्ाय औय भॊगरर्ाय को हरयमाणा 
के कुर सॊददग्धों का ककतना प्रनतशत है? 

A. 23.33%   B. 18.45%   C. 21.42% 

D. 19.33%   E. इनभ ेसे कोई नही| 

29. सोभर्ाय को एऩी, एभऩी औय मूऩी भें सॊददग्धों की औसत सॊख्मा क्मा है? 

A. 178    B. 196    C. 204 

D. 188    E. इनभ ेसे कोई नही| 

30. याजस्थान भें सोभर्ाय औय भॊगरर्ाय को सॊददग्धों भें क्मा अॊतय है? 

A. 58    B. 72    C. 63 

D. 54    E. इनभ ेसे कोई नही| 
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SET – 7 

नीच ेददए गए च टच भें च य देशों भें सक य त्भक COVID-19 भ भरों की सांख्म  दजच की गई औय भयने 
व रे रोगों क  प्रनतशत औय रयऩोटच ककए गए भ भरों से उफयने व रे रोगों क  प्रनतशत दश चम  गम  है। 

उनभें स ेफ की सकक्रम भ भरे हैं। 

 

31. इटरी औय स्ऩेन भें भयने र्ारों की सॊख्मा भें क्मा अॊतय है? 

A. 890    B. 840    C. 825 

D. 750    E. इनभ ेसे कोई नही| 

32. स्ऩेन भें सकक्रम भाभरों की कुर सॊख्मा क्मा है? 

A. 16560   B. 13750   C. 17260 

D. 16860   E. 15650 

33. र्ायो देशों भें होने र्ारी भतृ्मु की कुर सॊख्मा क्मा है? 

A. 10012   B. 9457   C. 9324 

D. 9487   E. 9557 



 

34. मदद ईयान भें सकक्रम भाभरों भें 25% भदहराएॉ हैं, तो ईयान भें सकक्रम ऩुरुष भाभरों की सॊख्मा 
ककतनी है? 

A. 7250   B. 7380   C. 6450 

D. 7460   E. इनभ ेसे कोई नही| 

35. बायत भें उबयने र्ारे रोगों की कुर सॊख्मा स्ऩेन भें उबयने र्ारे रोगों की कुर सॊख्मा का ककतना 
प्रनतशत है? 

A. 5.83%   B. 7.14%   C. 8.25% 

D. 6.67%   E. 6.25% 

 

SET – 8 

नतनक  नूऩुय एक ऐसे देश भें थी जह ां COVID-19 व्म ऩक थ । वह सोभव य, 17 पयवयी 2020 को 
ब यत आई। उनक  ऩयीऺण ककम  गम  औय वो 22 पयवयी, शननव य को ऩॉजजदटव ऩ मी गमी। 

सोभव य से शुक्रव य तक ऩ ांच ददनों के बीतय, वह 900 रोगों के स थ श यीरयक सांऩकच  भें आई, जजनकी 
सांख्म  प्रत्मेक ददन ऩ ई च टच भें दी गई है। 

श यीरयक सांऩकच  भें आने व रे रोगों की सांख्म  
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इन ऩ ांच ददनों के दौय न वह जजनके सांऩकच  भें आईं, उनभें से केवर 40% ऩॉजजदटव ऩ ए गए जफ तीन 

ददनों के फ द 25 पयवयी, भांगरव य को ऩयीऺण ककम  गम । प्रत्मेक व्मजक्त, जो सक य त्भक ऩ म  
गमे थे, औसत 12 असांक्रमभत रोगों के स थ श यीरयक सांऩकच  भें आमे थे इन तीन ददनों भें प्रत्मेक ददन 

(म नी शननव य, यववव य औय सोभव य को) ऩयीऺण से ऩहरे औय भांगरव य को अरग यखने तक। 

36. भॊगरर्ाय की तुरना भें शुक्रर्ाय को नतनका नुऩुय ककतने प्रनतशत अधधक रोगों के सॊऩकव  भें आई? 

A. 10%    B. 12%    C. 12.5% 

D. 16.67%   E. 20% 

37. सॊक्रमभत ऩाए जाने से ऩहरे नतनका नुऩुय ने ककतन ेरोगों को सॊक्रमभत ककमा? 

A. 900    B. 450    C. 720 

D. 540    E. 360 

38. फुधर्ाय को उनके सॊऩकव  भें आई भदहराओॊ तथा ऩुरुषों का अनुऩात 4: 5 था। 50 र्षव स े
अधधक आमु र्ारे ऩुरुषों की सॊख्मा उन रोगों की तुरना भें 40% कभ थी जो 50 र्षव की 
आमु के फयाफय मा उससे कभ थे। 50 र्षव मा उससे कभ आमु के ऩुरुषों भें से कोई बी 
ऩॉजजदटर् नहीॊ ऩामा गमा। तो ककतने ऩुरुष ऩॉजजदटर् ऩाए गए? 

A. 40    B. 64    C. 80 

D. 24    E. 16 

39. सोभर्ाय को, र्ह जजतने ऩुरुषों के सॊऩकव  भें आईं, र्ह भदहराओॊ की सॊख्मा की 35% थी। 
सोभर्ाय को उसके सॊऩकव  भें आने र्ारे सबी ऩुरुष ऩॉजजदटर् ऩाए गए औय ऩॉजजदटर् ऩाए 
जाने र्ारी भदहराओॊ की सॊख्मा ऩुरुषों की सॊख्मा के फयाफय थी। ककतने रोग नेगेदटर् ऩाए 
गए, जजन रोगों से र्ह सोभर्ाय को सॊऩकव  भें आई थी? 

A. 78    B. 84    C. 42 

D. 126    E. इनभ ेसे कोई नही 



 

40. शायीरयक सॊऩकव  भें आने र्ारे सबी रोगों भें स,े शननर्ाय स ेसोभर्ाय तक, उन रोगों के 
साथ, जो नतनका नूऩुय के साथ शायीरयक सॊऩकव  भें आए औय ऩॉजजदटर् ऩाए गए, 26 पयर्यी, 
फुधर्ाय को ऩयीऺण ककए जाने ऩय केर्र 45% ऩॉजजदटर् ऩाए गए। तो ककतने रोग 26 

पयर्यी को ऩॉजजदटर् ऩाए गए? 

A. 4562   B. 1296   C. 5832 

D. 3258   E. 9612 

 

 

SET – 9 

ब यत के ऩ ांच अरग-अरग शहयों भें COVID-19 ऩयीऺणों भें सक य त्भक ऩ ए गए योधगमों की सांख्म  
के फ ये भें ज नक यी ननम्न नुस य है।  

जमऩुय की तुरन  भें ददल्री भें 60% अधधक भयीज हैं, औय जमऩुय भें चने्नई से 400 अधधक भयीज हैं। 

करकत्त  भें योधगमों की सांख्म  चने्नई भें योधगमों की सांख्म  से आधी थी। भुांफई भें भयीजों की सांख्म  
चने्नई स े100 कभ थी। 31 भ चच 2019 तक ऩ ांचो शहयों भें कुर भयीज की सांख्म  9100 थी। 

मह ऩ म  गम  है कक प्रत्मेक 200 योधगमों भें स े14 ददनों के बीतय 180 ठीक हुए, 18 को ठीक होने भें 
30 ददन रगे औय 2 की भतृ्मु हो गई। 

41. र्ने्नई, करकत्ता औय भुॊफई भें योधगमों की औसत सॊख्मा ऻात कीजजए। 

A. 1100   B. 1200   C. 1300 

D. 1400   E. इनभ ेसे कोई नही| 
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42. जमऩुय भें योधगमों की सॊख्मा करकत्ता से ककतन ेप्रनतशत अधधक थी? 

A. 100%   B. 150%   C. 200% 

D. 250%   E. इनभ ेसे कोई नही| 

43. प्रत्मेक 1000 ऩयीऺणों कयने ऩय ऩॉजजदटर् ऩाए गए रोगों की सॊख्मा 130 थी। ऩता कयें  कक 9100 

ऩॉजजदटर् भाभरों को ऩता कयने के मरए कुर ककतने ऩयीऺण ककए गए थे? 

A. 35,000   B. 40,000   C. 91,000 

D. 130,000   E. 70,000 

44. ददल्री, जमऩुय औय करकत्ता के सबी योधगमों को जोडा जाए तो 30 अप्रैर 2020 तक ककतन े

भयीज ठीक हुए? 

A. 5400   B. 5540   C. 4590 

D. 5940   E. 5990 

45. जमऩुय, भुॊफई औय र्ने्नई भें एक साथ ककतने रोगों की भतृ्मु हुई? 

A. 41    B. 51    C. 55 

D. 112    E. 102 
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SET – 10 

आगय  के तीन जजरों A, B औय C को ऩ ांच अरग-अरग शहयों भें ननभ चत ओां से एक ननजश्चत सांख्म  
भें N95 भ स्क रेत ेहैं। 

नीच ेदी गई त मरक  प्रत्मेक शहय से प्रत्मेक जजरे द्व य  प्र प्त भ स्क की औसत सांख्म  को दश चती है, 

C द्व य  प्र प्त भ स्क औय A औय B द्व य  प्र प्त कुर भ स्क क  अनुऩ त है औय A औय B द्व य  प्र प्त 

भ स्क क  अनुऩ त बी है। 

 औसत भास्क C/(A + B) A : B 

व य णसी 4200 1/8 2 : 3 

जमऩुय 5400 1/5 7 : 2 

बीरव ड  2400 2/7 2 : 5 

सूयत 2650 ¼ 3 : 7 

अजभेय 2420 2/9 2 : 7 

 

46. अजभेय से A द्र्ाया प्राप्त भास्क बीरर्ाडा स ेB द्र्ाया प्राप्त भास्क का ककतना प्रनतशत है? 

A. 27.5%   B. 25%    C. 35%  

D. 33%    E. 32.5%  

47. सूयत औय अजभेय से B को प्राप्त भास्क की औसत सॊख्मा क्मा है? 

A. 4482   B. 4223   C. 4536 

D. 4584   E. 4566 

48. र्ायाणसी औय बीरर्ाडा से A औय B द्र्ाया प्राप्त कुर भास्क भें क्मा अॊतय है? 

A. 5600   B. 4200   C. 5240 

D. 5800   E. 5400 



 

49. सूयत औय अजभेय से C द्र्ाया प्राप्त भास्क औय जमऩुय से B औय C द्र्ाया प्राप्त भास्क की कुर 

सॊख्मा का अनुऩात क्मा है? 

A. 97 : 190   B. 82 : 185   C. 17 : 52 

D. 32 : 85   E. इनभ ेसे कोई नही| 

50. जमऩुय, बीरर्ाडा, औय सूयत से A द्र्ाया प्राप्त भास्क औय र्ायाणसी, सूयत औय अजभेय से B 

द्र्ाया प्राप्त भास्क की सॊख्मा भें क्मा अॊतय है? 

A. 1748   B. 786    C. 1640 

D. 1790   E. इनभ ेसे कोई नही| 
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Correct answer: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

B D B C E D E B C A B D B A E 

16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 

D B C E C C A E B A D A C B C 

31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 

E A B B D C E D A C C B E D B 

46 47 48 49 50 
          

D C A A E 
          

 

 

 

 

Explanations: 

 

 

1. Number of people tested positive in March = 2100. 
 
Number of days in March = 31 
  

Average =  
2100 

 = 67.74 
31 

 
Hence, option B is correct. 

 
2. We can see that China, Italy and the USA showed more than 3000 positive tests. 
  

Hence, option D is correct. 
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3. Number of people found positive in January = 740 

 
Number of people found positive in February = 2480 
 

Percentage growth =  
2480 – 740 

 x 100 = 235.13%  
740 

Hence, option B is correct. 
 
4.  Number of cases in India in January = 100 

Number of cases in Japan in January = 2 × 100 = 200 
  
Number of cases in February in India = 600 
  
Number of cases in Japan in February = 600 + 50% of 600 = 900 
  
Total cases in Japan till Feb end = 200 + 900 = 1100 
  
Number of cases in March = 2 × 1100 = 2200 
 
Hence, option C is correct.. 

 
5. Total number of cases in USA in February and March = (5600 + 10000) = 15600 
  

Number of cases in China in February = 4250 
  
Number of cases in Italy in March = 6250 
  
Total = (4250 + 6250) = 10500 
  
Required ratio = 15600 : 10500 = 52 : 35 
  
Hence option (E) is correct. 
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06 - 10. 
 
Common explanation:  
 
We evaluate number of patients who were found positive and number of patients who 
needed ventilators. 
 

 
Number of 

Tests/lakh/day 
Positive cases 

Number of patients 
for Ventilators 

USA 14000 12% of 14000 = 1680 20% of 1680 = 336 

Spain 12000 8% of 12000 = 960 12.5% of 960 = 120 

Italy 18000 15% of 18000 = 2700 16% of 2700 = 432 

China 16000 11% of 16000 = 1760 15% of 1760 = 264 

 
 
6. From common explanation, we have 

 
total number of tests per day per lakh in the four countries = 14000 + 12000 + 
18000 + 16000 = 60,000 
 

Average =  
60000 

 = 15000 
4 

 
Hence, option D is correct. 

 
7. From common explanation, we have that USA tests 14,000 for each 1 lakh, so for 

3012 lakh, number of tests = (3012 lakh) × (14thousand/lakh) = 42,168 thousand. 
  

Similarly, for Italy = (720lakh) × (18 thousand/lakh) = 12,960 thousand 
 

Total = 55128 thousand = 551.28 lakh 
 

Hence, option E is correct. 
 
8. From common explanation, we have 
 

80,000 people are tested each day 
 
Thus in 20 days, number of tests = 20 × 80 thousand = 1600 thousand 
 



 

Number of people who have been found positive = 11% of 1600 thousand = 176 
thousand = 176,000  
 
Hence, option B is correct. 

 
9.  From common explanation, we know that in Spain, out of each 12,000 tests, 960 

were found positive. 
 

Number of tests when 5760 were found positive =  
5760 

 × 12000 = 72,000 
960 

 
Hence, option C is correct. 

 
10. From common explanation, we have 
 

Average number =  
336 + 120 + 432 + 264 

 = 288 
4 

Hence, option A is correct. 
 

 
 
 
11 - 15. 

 
Common explanation:  
 
Number of cases on Monday = 80 
 
On Wednesday = 80 × 1.8 = 144 
 
Similarly, calculating for each day we get: 

 
 

Day Cases 

Monday 80 

Tuesday 144 

Wednesday 360 

Thursday 1152 

Friday 5184 
 

 
On Monday, 
 

Cases in Delhi = 37.5% =  
3 

 × 80 = 30 
8 
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Cases in Rajasthan = 12.5% =  
80 

 = 10 
8 

 
Cases in UP = 80 – 30 – 10 = 40 
 
Similarly, calculating for each state we get: 
 

  Monday Tuesday Wednesday Thursday Friday 

Delhi 30 36 108 288 1152 

Rajasthan 10 24 162 720 1944 

UP 40 84 90 144 2088 

Total 80 144 360 1152 5184 

 
 
11. From common explanation, we have 
 

Total cases in Delhi and Rajasthan on Monday = 30 +10 = 40 
  
Total cases in Delhi and Rajasthan on Wednesday = 108 + 162 = 270 
 
Increase = 270 – 40 = 230 
Hence, option B is correct. 

 
12. From common explanation, we have 

 
Number of cases in UP on Thursday = 144 
 
Number of cases in Delhi on Friday = 1152 
 

Reqd. % =  
144 

 × 100 = 12.5% 
1152 

 
Hence, option D is correct. 

 
13. From common explanation, we have 
 

Required difference = 1944 – 1152 = 792 
 
Hence, option B is correct. 



 

 
14.  From common explanation, we have 
 

From Tuesday to Thursday, 
 
Increase in Delhi = 288 – 36 = 252 
 
Increase in UP = 144 – 84 = 60 
 
Required Ratio = 60 : 252 = 5 : 21 
 
Hence, option A is correct. 

 
15. From common explanation, we have 
 

Percentage increase in UP from Wednesday to Thursday =  
144 – 90 

 × 100 = 60% 
90 

 

Percentage increase in Delhi from Tuesday to Wednesday =  
108 – 36 

 × 100 = 200% 
36 

 

Reqd. % =  
60 

 × 100 = 30% 
200 

 
Hence, option E is correct. 

 
16. 16,000 people were tested for COVID-19 in yellow zone. 

 
Now, 4.8 thousand = 4800 were found positive. 
 

Percent =  
4800 

 × 100 = 30% 
16000 

 
Hence, option D is correct. 

 
17. Number of people tested in 
 

Green Zone = 15,000 
 

Skyblue Zone = 9,000 



 

 
Red Zone = 11,000 

 
Black Zone = 14,000 
 

Average =  
(15 + 9 + 11 + 14) × 1000 

 = 12250 
4 

Hence, option B is correct. 
 

18. The number of people who were found positive in Yellow Zone = 4.8 thousand 
 
The number of people who were found positive in Skyblue Zone = 1.8 thousand 
 

Percent =  
(4.8 – 1.8) 

 × 100 = 166 
2 

 % 
1.8 3 

 
Hence, option C is correct. 

 
19.  Total number of people = 2 + 3.6 + 4.8 + 1.8 + 2.75 + 1.68 = 16.63 thousand 
  

Hence, option E is correct. 
 

20. Number in previous tests = 18 thousand 
 
Number of new tests = 18 × 2 = 36 thousand 
 
Total tests after new tests = 54 thousand 
 
Positive outcome in previous tests = 2 thousand 
 
Positive outcome in new tests = 2 + 50% of 2 = 3 thousand 
 
Total positive after new tests = 5 thousand 
 

Percent =  
5 

 × 100 = 9.2% 
54 

 
Hence, option C is correct. 

 
 
 



 

 
 
21 - 25. 
 
Common explanations: 
 
In Italy, 
 
Total cases = 117744 
 
Cases per million = 2453 
 
Total cases 

 × 1,000,000 = Cases per million 
Population 
 

Population =  
Total cases 

 × 1,000,000 
Cases per million 

 

Population =  
117744 

 × 1,000,000 
2453 

 
= 4,80,000,000 = 4.8 cr 
 
Recovered = 25% (117744) = 29436 
 
Active cases = 117744 – 29436 = 88308 
 
Similarly calculating for each country, we get: 
 

Country Total Cases Recovered Active Population 

Italy 117744 29436 88308 4,80,00,000 

France 42525 8505 34020 3,50,00,000 

Spain 140736 52776 87960 9,60,00,000 

USA 524160 52416 471744 2,24,00,00,000 
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21. From the common solution: 
 

Active cases in France = 34020 
 

Recovered Cases in France = 8505 
 

Required difference = 34020 – 8505 = 25515 
 

Hence, option C is correct. 
 

22. From common explanation, we have 
 

Required ratio = 4.8Cr : 9.6Cr = 1 : 2 
 

Hence, option A is correct. 
 

23. From common explanation, we have 
 

Required difference = 52776 – 52416 = 360 
 

Hence, option E is correct. 
 

24.  From common explanation, we have 
 
37.5% population is uneducated so 62.5% population is educated. 
 

Educated people in USA =  
62.5 

 × 224 Cr = 140 Cr 
100 

 
Hence, option B is correct. 

 
25. From common explanation, we have 
 

Required difference = 88308 – 87960 = 348 
 

Hence, option A is correct. 
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26 - 30. 
 
Common explanation:  
 
Total TG Members = 2100 
 
TG Members who go to AP = 15% (2100) = 315 
 
Number of people contacted by TG members (suspects) in AP on Monday = 315 × 0.2 = 63 
 
Tuesday = 315 × 0.4 = 126 
 
Wednesday = 315 × 0.1111 = 35 
 
Similarly, calculating for each state we get: 
 

State TG members 
Suspects 

Total 
Monday Tuesday 

AP 315 63 126 189 

UP 420 210 21 231 

MP 525 315 21 336 

Rajasthan 252 126 63 189 

Haryana 588 49 147 196 

Total 2100 763 378 1141 

 
 
26. From common explanation, we have 
 

Required sum = 315 + 21 = 336 
 
Hence, option D is correct. 

 
27. From common explanation, we have 
 

Required difference = 231 – 196 = 35 
 
Hence, option A is correct. 

 



 

28. From common explanation, we have 
 

Reqd. % =.  
21 + 21 

 × 100 = 21.42% 
196 

Hence, option C is correct. 
 
29.  From the common explanation, we have 
 

Reqd. average =  
63 + 210 + 315 

 = 196 
3 

Hence, option B is correct. 
 
30. From the common explanation, we have 
 

Required difference = 126 – 63 = 63 
  

Hence, option C is correct. 
 

 
 

 
31 - 35. 
 
Common explanation:  
 
In Italy, 
 
Total cases = 22000 
 

Deaths = 12.5% (22000) =  
22000 

 = 2750 
8 

 

Recovered = 25% (22000) =  
22000 

 = 5500 
4 

 
Active cases = 22000 – 2750 – 5500 = 13750 
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Similarly, calculating for each country we get: 
 

Country Cases Deaths Recovered Active 

Italy 22000 2750 5500 13750 

Spain 24000 3600 3840 16560 

Iran 18450 3075 5535 9840 

India 640 32 256 352 
 
 

31. From common explanation, we have 
 

Required difference = 3600 – 2750 = 850 
 

Hence, option E is correct. 
 

32. From common explanation, we have 
 

Active cases in Spain = 16560 
 

Hence, option A is correct. 
 

33. From common explanation, we have 
 

Required sum = 2750 + 3600 + 3075 + 32 = 9457 
 

Hence, option B is correct. 
 

34.  From common explanation, we have 
 

Active male cases = 75%=  
75 

 × 9840 = 7380 
100 

 
Hence, option B is correct. 

 
35. From common explanation, we have 
 

Reqd. % =  
256 

 × 100 = 6.67% 
3840 

 
Hence, option D is correct. 



 

 
 
36 - 40. 
 
Common explanation: 
 
Let us find the number of people who came in physical contact with TinkaNupoor on 
various given days: 
 
Monday = 18% of 900 = 162 
 
Tuesday = 24% of 900 = 216 
 
Wednesday = 16% of 900 = 144 
 
Thursday = 15% of 900 = 135 
 
Friday = 27% of 900 = 243 
 
Only 40% of 900 were found positive on tests on Tuesday, thus 40% of 900 = 360 were 
found positive. 
 
 
36. From common explanation, we have 
 

Tuesday = 24% of 900 = 216 
 
Friday = 27% of 900 = 243 
 

Percent difference =  
243 – 216 

 × 100 = 12.5% 
216 

 
Alternative: 
 
We can directly use the values on pie chart since the ‘900’ is common to all values 
of pie chart. 
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27 – 24  × 100 = 12.5% 

24 
 
Hence, option C is correct. 
 

37. From common explanation, we have 
 

Only 40% of people were found positive who she came in physical contact with. 
 
Thus 40% of 900 = 360 
 
Hence, option E is correct. 

 
38. From common explanation, we have 

 
On Wednesday, from common explanation, total 144 people came in contact with 
her. 
 

Number of men =  
4 

 × 144 = 64 
4 + 5 

 
Let the number of men below 50 years were ‘y’, then 
 
Number of men who were above 50 years age = y – 40% of y = 0.6y 
 
Total men = y + 0.6y = 1.6y = 64 or y = 40 
 
Men above 50 years of age found positive = 64 – 40 = 24 
 
Hence, option D is correct. 

 
39.  From common explanation, we have 
 

Total people she came in contact with on Monday from common explanation = 
162 
 
Let total ‘y’ men she came in contact with, then, we have 
 

y 
 × 100 = 35 

162 – y 



 

 
135y = 162 × 35 
 
y = 42 
 
Number of women who found positive = number of men = all men = 42 
 
Total people who found positive = 42 + 42 = 84 
 
Number of people found negative = 162 – 84 = 78 
 
Alternative: 
 
To calculate number of men, we have 
 
Let Men = M, Women = W 
 
Men are 35% of women 
 
M = 35% of W = 0.35W 
 
Also, M + W = 162 
 
0.35W + W = 162 
 
1.35W = 162 
 

W =  
162 

 = 120 
1.35 

 
M = 162 – 120 = 42 
 
Hence, option A is correct. 

 
40. From common explanation, we have 360 people who were found positive on 25 

feb. 
 

Each of whom came in contact with an average of 12 people each day. Thus in 
three days, they would have come in contact with 3 × 12 = 36 people. 

 
There were 360 people, so all would have come in contact with 36x360 people 



 

 
Only 45% of these were found positive, thus = 45% of 36 × 360 = 5832 

 
Hence, option C is correct. 

 

 
 

 
41 - 45. 
 
Common explanation:  
 
Let the number of patients in Delhi, Jaipur, Chennai, Calcutta, Mumbai were D, J, Ch, Cal, 
M respectively. 
 
Then we have 
 
D = 1.6J = 1.6(400+Ch) 
 

Cal =  
1 

 Ch 
2 

 
M = Ch – 100 
 
Therefore, we have 
 
D + J + Ch + Cal + M = 9100 
 

1.6 (400 + Ch) + (400 + Ch) + Ch +  
1 

 Ch + Ch – 100 = 9100 
2 

 
940 + 5.1Ch = 9100 
 
Ch = 1600 
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Thus, patients in various cities are 
 
Delhi = 3200 
 
Jaipur = 2000 
 
Chennai = 1600 
 
Calcutta = 800 
 
Mumbai = 1500 
 
 
41. From common explanation, we have 
 

Chennai = 1600 
 
Calcutta = 800 
 
Mumbai = 1500 
 
Total = 3900 
 
Average = 1300 
 
Hence, option C is correct. 

 
42. From common explanation, we have 

 
Jaipur = 2000 
 
Calcutta = 800 
 

Percent difference =  
2000 – 800 

 × 100 = 150% 
800 

 
Hence, option B is correct. 
 

43. From common explanation, we have 
 

For each 1000 tests we have 130 positive. 



 

 
Thus for 9100 = 70 (× 130), we should have 70 (× 1000) = 70,000 tests. 

 
Hence, option E is correct. 

 
44. From common explanation, we have 

 
It is given that out of 200 patients, 180 recovered within 14 days, 18 takes 30 days 
to recover 
 
Number of patients in Delhi, Jaipur and Calcutta = 3200, 2000, and 800 = 6000 
 
From 31 March to 30 April, 180 + 18 = 198 people out of 200 will recovered, 
 

means  
198 

 × 100 = 99% people will recover. 
200 

 
Thus, number of people who will recover from the three cities = 99% of 6000 = 
5940. 
 
Hence, option D is correct. 

 
45. From the common explanation, we have 

 
It is given that out of 200 patients, only 2 dies, 

thus  
2 

 × 100 = 1% die. 
200 

 
Number of patients in Jaipur, Mumbai and Chennai = 2000 + 1500 + 1600 = 5100 
 
Number of people who will die = 1% of 5100 = 51 
 
Hence, option B is correct. 
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46 - 50. 
 

Common explanation:  
 

Total masks received from Varanasi = 3 × 4200 = 12600 
 

C 
 =  

1 

A + B 8 
 

Adding 1 on both sides 
 

C 
 + 1 =  

1 
 + 1 

A + B 8 
 

C + A + B 
 =  

9 

A + B 8 
 

4200x3 
 =  

9 

A + B 8 
 

Masks delivered to A+B =  
8 

 × 4200 × 3 = 11200 
9 

A + B = 11200 
 
A : B = 2 : 3 
 

Masks received to A =  
2 

 × 11200 = 4480 
5 

 
Masks received by B = 11200 – 4480 = 6720 
 
Masks received by C = 4200 × 3 – 11200 = 1400 
 
Similarly calculating for each state, we get: 
 

City Total A B C 

Varanasi 12600 4480 6720 1400 

Jaipur 16200 10500 3000 2700 

Bhilwara 7200 1600 4000 1600 

Surat 7950 1908 4452 1590 

Ajmer 7260 1320 4620 1320 



 

46. From common explanation, we have 
 

Reqd. % =  
1320 

 × 100 = 33% 
4000 

 

Hence, option D is correct. 
 

47. From common explanation, we have 
 

Reqd. average =  
4452 + 4620 

 = 4536 
2 

 

Hence, option C is correct. 
 

48. From common explanation, we have 
 

Required difference = (4480 + 6720) – (1600 + 4000) = 5600 
 

Hence, option A is correct. 
 

49.  From common explanation, we have 
 

Required ratio = (1320 + 1590) : (3000 + 2700) = 97 : 190 
 

Hence option A is correct 
 

50. From common explanation, we have 
 

Masks receive by A from Jaipur, Bhilwara and Surat = 10500 + 1600 + 1908 = 
14008 
 

Masks received by B from Varanasi, Surat and Ajmer = 6720 + 4452 + 4620 = 
15792 
 

Required difference = 15792 – 14008 = 1784 
 

Hence, option E is correct. 
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